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>l -

30+50 g3 30+50=80
1
(R WEEETEASES AprocD 1.0 o] (5 |
30450 = 80 S|lo|lo|FIH|IClY @]
215in(30) = 2.

5
sqri (30°2+40°2) = 50

30450
2+sin(30)
sort (30°2+4072)
| precision 10 | unit DEG -
30 3
2
30 arg arg=30
30 1
N HEEEEEEES AprocD 1.0 =T
arg+50 = BD f.'fl‘ﬂlf""lFll'llc }g
Y4ginfarg) = 2.5 -3
sgrt (arz*2+40°2) = 50 rER
arz+al
Z+sinlarg)
sart (arg"2+4072)
| precision 10 | unit DEG
sin() sqrt()
( )
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(% HEEEHEASS AprocD 1.0

[ arg=30 ]
arg+al = 80
Z+sinfarg) = 2.5
sqrtfarg™2+40°2) = 50
[ arg=35 ]
arg+hl = 85
2+sinfarg) = 2.5735764
sarifarz"2+4072) = 53.150723
[ arg=45 ]
arg+hl = 455
2+sinlarg) = 2.7071068
sart (arg”™2+40°2) = B0.207979

dlo|c|FIH|IC|»[O]
arg=30,35,45

argehl

2+ziniarg)

sgri {arg 2+4072)

-|pnaiduniﬂ unit DEG 4

2

arg = 30, 35, ..., 50, 60, ..., 90

arg

30 50 5 50

90

10
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(B REEmEHERES AprocD 1.0 =)

[ are=30 ] S|w|e|F|IH[C|) | @]

arg+hl = 8O _
S e e arg=30,35,..,50,60,..,40

]
sqrt farg™2+407°2) = A0

[are=35 3
arg+hl = 85
2+sin(arg) = 2.5735764
sart (arg”2+4072) = 53.150729 arg+l
[ are=40 ] 2+sinfarg)
arg+5|:| = a0 Sqrt ':argh2+4ﬂ“2:'

P+sinfarg) = 2.6427876

sart (arg"2+4072) = G6.568542
[ arz=45 ]

arg+al = 95

Z+sinfarg) = 2.7071068

sgrt (arg™2+4072) = BO.207973
[ areg=h0 ]

arg+al = 100

P+sinfarg) = 2.7660444

sart (arg"2+4072) = B4.031242
[ arz=G0 ]

arg+ald = 110

Z+sinfarg) = 2.8660254

sgrt (arg™2+4072) = 72.111026
[ are=70 ]

argtal = 120

2+sinfarg) = 2.9396926

sart (arg"2+4072) = 80.622577
[ arz=80 ]

arg+al = 130

Z+sinfarg) = 2.9548075

sgrt (arg™2+4072) = 89.442719
[ areg=80 ]

arg+al = 140

P+sinfarg) = 3

sart (arg"2+4072) = 98.488578

precision 8 | unit DEG
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% HEEMETERSE=E AprocD 1.0

Eme =

[ arz=301]

¥ = 80

¥y = R0

sgri (x"2+y"2)
[ arg=45 ]

¥ = 95

v o= A2 426407

sart (™24 72

100

104.04326

r_-‘|‘|-n|<'=|F|H|C| blﬂl

arg=30,45

x=arg+al
v=B0%sin(3%arg)
sgrt (x"2+y"2)

| precision 8 | unit DEG

out
out(z)

out(

!ﬁr HESHETERSE=S AprocD 1.0

B =

[ arz=30 1]
z =100
[ arz=45 ]
z = 104.043256

||| FIH|C| )| @

arg=30,45

®=arg+hl
y=B0%sin(3%arz)
Zzsgrt (x 24y R
out (z)

| precision 8 | unit DEG
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graph (

120
time

M AprocD 57 ['Z' = |—"33-J
[
1.00 \ ; . :
0.50F
0.00Fk
-0.50F ]
L b / . \
-1.00
1] e ] T 1a
time=2.38E+0 u=-8.48E-1 w=-3.55E-2 w=9 83E-1
Iy AIERGETERSES AprocD 1.0 l = | 3 |—§3-J
(o] s[olc[FlH[C[r @]
arg = 0 :
= time=0,10
v = 0.8660254038 f=100
w = -0.3660254033
[ time=10 ]
arg = 1000 .
u = -0.954807753 arg?f*tlme
v = 0.5427878097 uzsiniarg)
w = 0.3420201433 v=sinlarg+120)

{
w=sinl{arg+240)
graph{u,w,w)

| precision 10 | unit DEG
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1

Repeat
exp(1)

10

(B RESMEERES AprocD 1.0

= | B e |

[ Repeat=10 ]

10
2.755731922349659E-6
2.71828152557319
2.71828182845905

[ Repeat=20 ]

20
B.22083524R62433E-118
2.7182815253454905
2.718281525345905

[ Repeat=30 ]

30
1.13099628864477E-31
2.71828182845905
2.711828182845905

m o =~ =

m o =~ =

mamo = =

f|lo|ce|F|IH|C|)|@]

Repeat=10,20,30

i R L

hile n<Repeat

k
e
n
W
{

k=k#n
ezetk
h=m+1
!
E=exp (1) //TESEH

| precision 15 | unit DEG

while

while

s t
Repeat=10 10

n<Repeat

” // ”

(true) 0 false)

while if
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if  elsif else

if
{
}
elsif
{
}
else
{
}
" oelsif .. { ..} " else 1 ..} " elsif ... T
t 0 4 0t 1,
1t 3 3 t 4
e HEEMHEEES AprocD 10 ]
|:5|r:]c=|l=|H|C|>|§'|
t=0,4
Ti1=1
T2=3
iIf 1<T1
4
v=t
pzt 2,2
H
elsif t<T2
{
v=T1
p=T1*{t=-T1/2)
H
else
{
w=T1+T2-1
p=T1&T2-(t-T1-T2}"2/2
}
graphiv,p)

precision 10 | unit DEG
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Napier

Ny BFEEHETERASES AprocD 1.0 |
[ Repeat=10 ] ley|l | FIH|C| b | @
e = 2.71828152567314 T T T
E = 2.71828182845905 Repeat=10,20,30
[ Repeat=20 ]
e = Z.718281828454905 =
E = Z.718281828454905 }%EEEEH}«.[JQE@'
[ Repeat=30 ] .
e = 2.718251528450905 e=Napier (Repeat ]
E = Z.71828318284548045 Ezexpil) //TREZH
W 1-vEIO-ELRE (=[5 )
A BIRHRDE
Napier (N}
{
k=1
=
f// n=1
| while n<h
T U FiCiHEEME« {
—EhEmEh. YIAT ek
BEIRLTEETEEY ;;1
!
return e
!
Repeat N
return
//
1 2 )
{
—
}
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PI(

{
return 3.14159265358979
b
PIQO
AprocD
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)

i) Ctrl+S
w3 | o Ctrl+ /
F|
16 H | 16
C
b |
Q|
unit ### ()
precision ## 115
)
b |
2]
) Ctrl S
F|
) | Ctrl
o | Ctrl
3
Ctrl Ctrl
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(CY

)
X=y*-z X y
! 0 if 1(x=3)1{..} x 3
-z
2
+ 2 z=xX+y
2 Z=X"Yy
%* 9 z=x*y
/ 2 z=x/y
% ! z=5.5% 3.7 z 5+ 3 2
A 2 Z:X/\3+2*y/\3 3 Z:X3+2 y3
— X y=1
> =x>
y=x>0 =0
>= ifx=0{..} X
< 1 ifx<0{..} X
<= 0 ifx<=0{..} X
== ifx==11{..} x= .0
1= ifx!=51{..} x 5.0
&& if (x=0) && (x<=9){...} |x O 9
I 1 if x0) || (yO) {...} Xy
1
2 x*y = exp(y * Inx)) X
3
4 ==
5
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abs(x)

sqrt(x)

exp(x) e

log(x)

log10(x)

sin(x) sin

cos(x) cos

tan(x) tan

asin(x) |x|<1 sin !

acos(x) Ix|<1 cos !

atan(x) tan !

atan2(x,y) tan” y/x) (m M)

sinh(x) sinh

cosh(x) cosh

tanh(x) tanh

limit(min, max,
X)

gauss(x) 0 X

random() 0 1

aux(var) AprocS  auxfunc()

out(vl,v2,...)

graph(vi,v2,...)

else, elsif, if, loops, return, while

int, limit, log, log10, out, random, sin, sinh, sqrt, tan,

abs, acos, asin, atan, atan2, aux, cos, cosh, exp, gauss, graph,
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